A~~~
QD
~

Power [MW] and pitch |]
= S

O
—

DTUI0MW blade

p—
o

e

|1 -

Power-lin.

Power-nonlin.

--=-0---

Pitch-lin.

Pitch-nonlin.

—v— Radius-lin.

—¥—  Radius-nonlin.

o
&
ISURYD SNIPRY

5

10 15 20 25

Wind speed [m s

0.60

=
%
S

—
p—
Q_](

(b)

| and pitch |]

 —
<

DD
<

IEA1IOMW blade

p—
el

Wind speed [m s7']

3.00

M
DO

r
-
wi| aSuRyD SnIpey

25 2

0.75

'0.00

.'.,
&
)
..’,
&.'
0...“
&
.,”,
x B
- B !f‘—l—n- ES-E-F 8 8-E-8 |
4 ~.,
s
y
2 o
, :
7l S
’ .
. 8
o W N
. ... 4
O -0 -ON\O .
™\
D 10 15 20 20



